Matrix Word Problems!

1) The sum of 3 iftegers is 48. If the first in@ger is doubled (and the others
remain the same), the sum is 60. If t cond integer is doubled (and the others
remain the same), the sum is 63. What are these integers?

3W\M16«%"X)\3J2 D) x-l—\«j-(—z,sl—lg vl X g

= {0 z Ll y|o|eo
@Zx+\‘j+2'& lLl Z 3_)

X+amrz =5 )
G s g % Nuwmiois ol :
X =N-B= 2\ 13,152 )

2) The owner of a candy store mixed some peanuts worth $3 per pound, some
cashews worth $9 per pound, and some Bragitxauts worth $9 per pound to gét 50
pounds of a mixture that would sell fo ound. She used 15 fewer pounds
of ca;h.emu-t—han—@anuts. How many pounds of each did ste us%
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3) A tour group stops at a highway restaurant and is giyen a choice of

hamburgers, chicken sandwiches, and salads. If th up orders 12

hamburgers, 21 chicken sandwiches, and 19 salads, the cost is $79. If the group

rders 16 hamburgers, 14 chicken sandwiches, and 22 salads, the cost is
$77.80. A salad and a chicken sandwich togetfiéR2cpst as much as 3
hamburgers. What is the cost of each meal?
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